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QUESTION 1

In the Cisco APIC, how are fabric-wide unique identifiers managed?
A. dme

B. coop

C. eltmc

D. idmgr

Correct Answer: A

QUESTION 2

Which command is used to successfully SSH into a Cisco ARC or switch CLI using a remote authentication server?
A. apic#rad_check//lusername@192.168.1.21

B. ssh apic#rad_check\\username@192.168.1.21

C. ssh apic#ad_ch?k//lusername@192.168.1.21

D. ssh apic@rad_check\\username@192.168.1.21

Correct Answer: C

QUESTION 3

Which two statements about tenant bridge domain Layer 2 unknown unicast forwarding modes are true\\'? (Choose
two.)

A. If forwarding mode is flood, unknown Layer 2 unicast is sent to all Layer 2 ports in the bridge domain.

B. If forwarding mode is proxy, unknown Layer 2 unicast packets are sent to border leaf proxy for forwarding.
C. By default, multicast traffic is always flooded within the bridge domain VLAN.

D. Layer 2 unknown unicast can be set to flood or proxy, the default is flood.

E. If border leaf proxy cannot resolve the destination, packet is flooded.

Correct Answer: AB

QUESTION 4

Which MO name represents a physical domain?
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A. RtDomP

B. PhysDomP
C. physDomP
D. InfraRtDomP

Correct Answer: C

QUESTION 5
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Which two DMEs are running on a leaf switch? (Choose two.)

A. policy element
B. appliance director
C. spine manager
D. event manager
E. topology manager
F. policy manager

Correct Answer:. CF
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